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CS9929BSI

0.050kV ~ 5.000kV

+(1%+0.2%HEFE)

1V

100W (5.000kV/20mA)

20mA

0~ 20mA,0=AHI¥T R

200uA. 2mA, 20mA

IE3%iR

2% (EEAERRMERE)

13~15

DDS+IHig

0.3s5 ~999.9s 0=EaJE_-FHAtiE)x

0.35~999.9s 0=1%£E iz

0.3s ~999.9s 0=FE/F FREAT[EIR

0.0s ~999.9s 0=[EJfBHT RIS

4

N#&E, GHE

0.050kV ~ 6.000kV

+(1%+0.2%HEFE)

1V

60W (6.000kV/10mA)

10mA

2uA. 20uA. 200uA. 2mA. 10mA

<5% (6kV/10mA)

<200ms

10mA

0.35~999.9s 0=EB/E_EFHATIRIR

0.3s ~999.9s 0=1ELEM;

0.3s ~999.9s 0=FE/E NFERIEIR

0.0s ~ 999.9s 0=|Ef@RTIEIR

0.3s ~999.9s O=FERTHRERT|EIX

4

N#&E, GHE

0.050kV ~ 2.500kV

+(1%+0.2%HEFE)

1V

50000MQ

49999MQ

T™Q

0.35~999.9s 0=EB/E_EFHATIRIR

0.3s~999.9s 0=1ELEM
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0.0s ~999.9s 0=[EJf@HT R

ARERFF. K

<200ms

4

0.050kV ~ 5.000kV

0.050kV ~ 6.000kV

+(1%+0.2%HEFE)

1V

HWITHRE

0 ~ 20mA

0 ~ 10mA

200uA#: 0.1TuA2mA #4: TuA,20mA #: 10uA

2uA%: 0.001uA, 20uA #%4: 0.01uA, 200uA #%: 0.1uA, 2mA#H TuA, TOmA £: 10uA

+(1%+0.5%HEFE)

MR B RIRIFR IR AT LABRIRL S

GND #&=: RETURN imfEil75 FLOAT #&x{: RETURN imA3E#17%

T™MQ ~ 50000MQ

TMQ ~9.999MQ: 0.001TMQ, 10MQ ~99.99MQ: 0.01TMQ, 100MQ ~999.9MQ:0.1MQ,

1000MQ ~10GQ: TMQ 10G Q ~50GQ:10MQ
0.100kV ~0.200kV:1MQ ~ 999MQ +5%, 1000MQ ~3000MQ +10%
0.201kV ~ 0.499kV:1TMQ ~ 999MQ £5%, 1000MQ ~5000MQ +10%
0.500kV ~2.500kV:1MQ ~ 999MQ +5%, 1000MQ ~ 50000MQ +10%
0~999.9s
0.1s

£ (0.1%+50ms)




